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Q1: Circle the nght answer for all of the following: (50 points)
L,)\ va.) ol VeSS Cr' e
1:ifa gas has polar particles then the difference between the volume of this gas is: 'L ) 3
o / =
Answel' a) VReal > Vperfect b) VReal < Vperfect @Ikeal = VPerf 5 v d) VReal *yreﬁect
Ls\;) f) _}-ﬂl\/’ cu/ \..u)_,) \
2: A gas occupies 60 x 10°> mL at 150 °C and 760 mmHg pressure. Wha ouId |ts volume at STP?
Answer:  a)38.7 mL  b)38.7dm? (¢)38.7 71| ) d)38.7dm?
by O2MOUY A= ey AR e
3: Calculate the weight of HzO gas (18 g.molY) ina 5 L cylinder at 10 x 10% kPa and 373) ‘ ;\ z Ry
Answer: a) 29. 40 g mol"@ g ¢)29.40mol d)29.40 kg g w 7/ o) 7=
XA r' g }}\ 3 20 -\ lEf\ a } 4 :;/\,{/
4: Calculate the dens:ty of H20 STaced in a 22400 ey/lmdg}r’at 10° Pa and 0 o D
1 YV = - <
Answer:  2)0.804 kgL (6)0.804€ L o 0.804 g d) 0.804 L o
\v 2 "
5: Accordmg to Graham’s law the heavipst gas.is? i
Answer: a) H.0 ~ / " ¢)NH3 d) Cl 3
o o anl N>~ va

6: A tank contains a certam/amount of gas at 10> Pa. The gas is transferred to another tank 40 dm° dm3 with pressure
of 200 x 103 Pa. thau;rdrbe its volume? vi= ¢

Answer: /(H. /%) b)80PalL c) 80 Pa dm?® d)soL?

Z )‘/ €y ,,,,,307,19 **mﬁ M(,»QF A l% %
7: According to Boyle’s law the pressure of a gas is inversly proportional with? f\) 0 AN g WY

A%swer a)p b)T c)R d) Vv e)n o ?
3 s A ‘;u} ——JC‘_L‘-— — : \)\ \&/\’\/\\/J

,_)),)V e
8: The difference between real and ideal gas, that thé feal gas interested in?
Answer, b)V&T c)p&n d)T&p
o Gz s )lfarrac A g Lo
9: It can follow the direct propomonal between temperature and pre;sure hrough the law of
Answer: a) Van der Waal D= b) Graham'\ . @)CK’Hes\ (9)\!) Gay-Lussac
e oef P IS Wy 2 £
10: The behaviour of real gas is ideal when the value of Z is equal to
Answer: a) Vm< Vo b) Vm > Mo @ Vin=Vn CG/B d)/vm #V°n "
Q2: The following data have been observed fcir 800 mg of nitrogen gas at 273 K| Calculate the best value of the
L= WS 2 ”3'1\'
‘molarmass of N2. © [ p/10°Pa | 0750 [ o. 500 T 0.200 | (25 points) AT
WKW =2 Ty dm? 3.0 45 7.0 ?5 PR
S 2 ) g’Pc’" Va2 n-= _.771*.03 11-3

Q3: A perfect gas undergoes sotherma| compressmn, which reduces its volume by 1.80 dm>. The prand Vsof = o'©

the gas are 2 x 10% kPa and 2.14 dm?, respectively. Calculate the porigina Of the gas in (i) bar, (ii) torr. (25 points)
ey xie) ept

“Ved _14/11/2021 Best wishes Dr Abduljabbar I. R. Rushdi
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